
PNEUMATIC ACTUATOR
����� ��	
 �、
�	
 �DR SC��	
 �、
�	
 �DR SC

SERIES

�������	
��
���



DR/SC��������	
��


���������������，

�� � !�"�#$%&，'CAD

()*+,、./$01�；3��

4���56、�78，9:;0<

=、>?@ABC；DEFG�@H

I4J；:;KLMN���OPQ

��ER，ST.UVWX0YZ。

DR/SC��������	
��


���������������，

�� � !�"�#$%&，'CAD

()*+,、./$01�；3��

4���56、�78，9:;0<

=、>?@ABC；DEFG�@H

I4J；:;KLMN���OPQ

��ER，ST.UVWX0YZ。

DR/SC\]��^_�	
��DR/SC\]��^_�	
��

①����abcdefg%&，

	hijkl，mno，pqrs

t，��uv0wxbcyz{|B

}~�����。

②��0#<�N���，Hm�

A70��V'��L���<��

�$� （��������$ �+

����），9�¡¢@£，¤¥\

¦§。

③©��%&，ª«0ah�Vv

h�
���¬，­®«¯°0��

V±²，³�´��Ayµ¶·¸¹

µ¶Xwxh���。

④»N�¼M½¾Kµ¶»，¿À

Uyz�Á·9�.ÂÃ，­?�´

Ä¾K0¾y·ÅÆµ¶¦=。

⑤'�ÈLÉÊvËÌÍÎÏdÐ

Ñ¾yU^_Ò0
��@
mÓ�

´，ÌÍ^ÔV^Õ{|，ÖYK�

ÁÌÍ×ØÙ'UÉÊ±²�z|Ú

£ÌÍÎÏ。

⑥Dr?{|ÜÝ�，.ÂBÞ$

ÜÝ，MN 、 PVDI/VDE3845 NAMUR

Qß，?¾y3pqª«àá，Öâ

{ÔÕã、ä�å{�、{|æç�

（èAé、êëì）。

⑦ NUMAR�îïðMN PQ，Bñï

¾y PQäò^。NUMAR

⑧��ôL0õN56ö÷Vbc

ø�ùúûpqö0öüýþ���

�d��0¤¥，3�ÅA��9�,

§¤¥、£¡¢。

⑨ª«0+
á���¿�
5

6 £����， 。

⑩�ï��MNK��OPQER

ISO5211 DIN3337 F03-F25， （ ）9:

;¾y®«��>、��>。

7

6

5

4

3

2

1 8

9

10

8

8

�¬���¬��

DR 00150-090-F10-LD22-10-HT-A

�h�n（��4�）

µ¶¦=（��5-6�）

pqö���（��7�、�8�）

�ï��（��7�）

�� n

EFt!（��5-6�）

h���（��3�）

��ý" 、A B

ST= O -20 C to +80 CPQ�h�n#$%& �'
0 0

HT= O -15 C to +150 Co��%& �'
0 0

LT= O -40 C to +80 C§�(%& �'
0 0

5-12 SC SOÉ±µ¶¦= )（)«þ 、 �¬）

LD= k�* pq�

H  = k�d+pq�

W = ,Ê.ßpq�

ISO5211 F03-F25MN�OPQ （ ）

90 /120 /180
0 0 0

�� n

0 -90 /0-180
0 0 0

K�Á/:ÌÍ

3P-0 -45 -90 /3P-0 -90 -180
0 0 0 0 0 0

�{|


��EF00015-05000

DR=ah�;�

DL=ah���

SC=vh�;�

SO=vh���

��ý"（�� �）2

― ―01

DR/SC00015-05000

<=û�¬��

DR/SC00015-05000

<=û�¬��



��ý"��ý"

±²

>á>á
A B

�� ���$
�����

+���$

pqö

9�

ÂN

9�

ÂN

��?@��

A
$BCD

©EÂN

�����

A
$BCD

·¿�


©EÂN·

§FnG>ùH

01

02

03

04

05

06

07 *

08 *

09 *

10 *

11 *

12 *

13 *

14 *

15 *

16 *

17 *

18

19

20

21

22

23

24

25

26

27

28

01

02

03

04

05

06

07 *

08 *

09 *

10 *

11 *

12 *

13 *

14 *

15 *

16 *

17 *

18

19

20

21

22

23

24

25

26

27

28

>á¬>á¬ IJ¦=IJ¦=

1
（ ）1

1
（ ）1

1

2

1

1

2

2

1

1

2

2

2

1

1

1

2

2

1

8/12/16
（ ）2

8/12/16
（ ）2

2

2

2

2

5-12

1

1

1

2

3

4

5

6
7

8

9

10

11

12

16

17

14

15

18

19

13

20

21

22
23

24

25

26

27

28

>áKe>áKe

L±²

M±²

��

bc

pqö

ÌÍN�

O�'（±²）

O�'（bc）

O�'（pqöO�）

O�'（pqöP�）

O�'（ÌÍÎQ）

cR（��）

öü（bc）

öü（pqöP�）

öü（pqöO�）

ø�öü（bcôL）

STöü（pqö）

UV（pqö）

µ>W'

±²ÎQ

±²UV

UV

ÎX

ÌÍÎQ

ø�Y

µ¶»á

{|ÜÝ�

ÎÏ

G�56

¿�


¿�


¿�


-----

¿�


-----

�·(%&

�·(%&

�·(%&

�·(%&

�·(%&

�·(%&

-----

-----

-----

-----

-----

-----

-----

-----

-----

-----

-----

-----

-----

-----

-----

-----

PQ56

�Z�N�

�Z�N�

���N�

�Z�N�

A


¿�


#$%&

#$%&

#$%&

#$%&

#$%&

#$%&

�AõN56

[\46

[\46

[\46

[\46

[\46

¿�


¿�


¿�


¿�


¿�


¿�


[\66+30%FG

N�µ¶


?]^PP+30%GF

¿�


（ ）�¬ ±²þde'(。1 DR/SC00900-05000

2 DR/SC00015-02000 8（ ）�¬ ±²ÎQþ )；

DR/SC03000-05000 12�¬ ±²ÎQþ )。

* S_ `�0>�á，abUcáaÃ0>á。

>�áû56、��>�áû56、��

17

― ―02

DR/SC00015-05000

>�áû56、��

DR/SC00015-05000

>�áû56、��



d�î�Te�ð �f��ÉbcghÃi×，9Ébc�(2)

j���É±��k	，É±�i0l����ð mq，°(4)

×9Ébc��°no	pqö �� p×q����。�g( )

�î�Te�ð �f��É±�i×，9Ébc���Ãh(4)

��k	，Ãh�i0l����ð mq，°×9Ébc�(2)

�°no	pqö �� r×q����。（Östbc¯d( )

���¾y，pqöxþ����，uþah��� ）DL�DL�

"2" " ?4 "2" "4"

DR  DL（ ）�ah��7hvDR  DL（ ）�ah��7hv

d�î�Te�ð �f��ÉbcghÃi×，9Ébc�(2)

j���É±��k	，w9É±0µ¶�x，É±�i0l

����ð mq，°×9Ébc��°no	pqö �(4) (

� p×q����。U�î�TH�äò^��y，��0É)

bcUµ¶0µT��Ãh��k	，Ãh�i0l�e�ð

(2) ( )mq，°×9Ébc��°no	pqö �� r×q��

��。（Östbc¯d���¾y，µ¶õ{×pqöxþ

����，uþvh��� ）SO�SO�

"2" "4" "2" "4"

SC  SO（ ）�vh��7hvSC  SO（ ）�vh��7hv

0 90
0 0

�� n

pqz{
Nm


��7h�Á|}

0 90
0 0

�� n

pqz{
Nm

l��T7h�Á|}

0 90
0 0

�� n

pqz{
Nm

µ¶õ{7h�Á|}

― ―03

DR/SC00015-05000

7hv

DR/SC00015-05000

7hv



�h�n(0C)�h�n(0C)

ST（PQ）

O#$%& �'

-20-+80

HT（o�）

O�%& �'

-15-+150

LT（§�）

O(%& �'

-40-+80

��ñ~

(mm)Φ

��ñ~

(mm)Φ

50

63

75

88

100

115

125

145

160

180

200

240

265

330

�ÁÌÍ

10I '¦

�ÁÌÍ

10I '¦


��G�

G��	
��×，UÑÓå^_0z{Ò�ÅA¾K�，���·���0���<ÅA ¾K�；���0�625%

���<ÅA ¾K�；���0���<ÅA ¾K�；������p�0���6�<ÅA ¾K�；dÐ30% 40% 60%

��、§¤¥0���<ÅA ¾K�（Ò�¾K�þ��� ÀS_，����）。20%

DR�ah��
��G�Ý�DR�ah��
��G�Ý�

d��©ÊY�z{ 0�^，�î�T)« ，�<þ���200Nm 5bar

0���，��~¾K��，ÅA ¾K�ýÐ ，�ah�p25% 250Nm

qz{����î�T ，�y ¡]¢ñ��ýÐ·¯£0z{5bar

¦¤，G ，� ¡��L����¬，G¥ �。277Nm DR00300

SC�vh��
��G�Ý�SC�vh��
��G�Ý�

d��©ÊY�z{ 0¦^，�î�Tþ ，�<þ��100Nm 4.5bar

�0�§��，��~¾K��，ÅA ¾K�ýÐ ，�vh40% 140Nm

�pqz{���µ¶õ{¨©}~¯£z{ ，�y ¡��148Nm

L���î�T 0¨©z{ ，ª«���î�Tz{V4.5bar 158Nm

µ¶õ{z{¯dTk¬，� ¡��L����¬Vµ¶¦=，G

¥ �、 )µ¶。SC00450 9

0 90
0 0

�� n

pqz{
Nm

SC00450 4.5bar 9)µ¶

0 90
0 0

�� n

pqz{
Nm

�^z{

¾K\¦
200

250

¾K\¦
100

140

DR00300 5bar

l��Tz{ µ¶
õ{

z{

�t

�î�T

�t

�î�T
� ¬ �� n�� n

DR/SC00015

DR/SC00030

DR/SC00060

DR/SC00100

DR/SC00150

DR/SC00220

DR/SC00300

DR/SC00450

DR/SC00600

DR/SC00900

DR/SC01200

DR/SC02000

DR/SC03000

DR/SC05000

�§·�

�0�­

�xl�

8 bar

90 4
0 O

±

·K�Á
0 0

0 -90

��®=（ ）L

Ô� Õ�

��®=（ ）L

Ô� Õ�

0.1

0.2

0.3

0.5

0.7

1.2

1.5

2.4

3.1

4.3

5.9

10.0

14.5

25.0

0.2

0.3

0.5

0.8

1.1

1.8

2.3

3.8

4.9

6.9

9.5

15.2

21.4

40.0

ÔÕ×h（¯）（ ）A

Ô� Õ�

ÔÕ×h（¯）（ ）A

Ô� Õ�

DR 0.2

SC 0.3

DR 0.3

SC 0.3

DR 0.3

SC 0.4

DR 0.4

SC 0.5

DR 0.5

SC 0.7

DR 0.7

SC 0.9

DR 0.9

SC 1.2

DR 1.2

SC 1.5

DR 1.5

SC 1.8

DR 2.0

SC 2.4

DR 2.7

SC 3.5

DR 3.5

SC 4.1

DR 4.0

SC 4.5

DR 6.0

SC 7.5

DR 0.3

SC 0.3

DR 0.3

SC 0.4

DR 0.4

SC 0.5

DR 0.5

SC 0.6

DR 0.6

SC 0.9

DR 0.8

SC 1.1

DR 1.1

SC 1.4

DR 1.4

SC 1.8

DR 1.7

SC 2.1

DR 2.2

SC 2.8

DR 3.2

SC 4.0

DR 4.0

SC 4.6

DR 4.5

SC 5.0

DR 7.0

SC 8.5


��«Õ¦¤
��«Õ¦¤

（ ）
��0	h×h
�]�á°²；（ ）³�（ ） �Á（ ）äò^ ð~，´=þA 1 2 900 3 4mm Qn400L/min

4 8mm 5 6 5.5bar 7（ ）µ¶�~ （ ）Ã>�­l�（ ）�î�T （ ）
��l·

¸：U.Â°²Ã©Ê·DÊ�¦¿°，	h×hº»¼x$。

B SC 10（ ）�¬ ½=þ ¾µ¶&¿；Y�ÅA·ÆÀµ¶¦=�I¾µ¶½=X&¿ÅA·ÆÀI©J½=。

― ―04

½=（ ）（ ）kg B½=（ ）（ ）kg B

IJ I¾µ¶IJ I¾µ¶

DR 1.1

SC 1.2

DR 1.6

SC 1.8

DR  2.8

SC  3.2

DR   4.0

SC   4.7

DR   5.9

SC   6.7

DR   8.5

SC 10.0

DR 10.7

SC 12.5

DR 15.5

SC 18.3

DR 19.5

SC 23.3

DR 26.7

SC 32.8

DR 35.6

SC 43.6

DR 58.2

SC 71.0

DR 78.8

SC 96.5

DR 130.

SC 163.

-----

0.01

-----

0.02

-----

0.03

-----

0.06

-----

0.07

-----

0.13

-----

0.16

-----

0.25

-----

0.36

-----

0.50

-----

0.62

-----

1.12

-----

1.56

-----

2.95

¦^z{

1/ 6

1/ 6

1/ 5

1/ 5

1/ 5

1/ 5

1/ 4

1/ 4

1/ 4

1/ 4

1/ 4

1/ 4

1/ 4

1/ 4

DR/SC00015-05000

G�û¦¤

DR/SC00015-05000

G�û¦¤



ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

17.8

17.2

16.5

15.8

15.1

15.5

14.5

13.5

12.5

11.6

20.5

19.8

19.1

18.4

17.8

16.8

15.9

14.9

47.1

44.8

42.6

40.4

38.2

36

33.8

40.8

37.3

33.9

30.4

27

23.5

20

54.8

51.1

47.5

43.8

40.1

44.3

38.5

32.7

26.9

21.2

63.9

60.3

56.6

52.9

49.3

45.6

53.4

47.6

41.9

36.1

30.3

24.5

Dr (Nm)�ah��pqz{Dr (Nm)�ah��pqz{


���¬ 2.5bar 3.0bar 3.5bar 4.0bar 4.5bar 5.5bar5.0bar 6.0bar 7.0bar 8.0bar

DR00006

DR00015

DR00030

DR00060

DR00100

DR00150

DR00220

DR00300

DR00450

DR00600

DR00900

DR01200

DR02000

DR03000

DR05000

DR10000

DR00006

DR00015

DR00030

DR00060

DR00100

DR00150

DR00220

DR00300

DR00450

DR00600

DR00900

DR01200

DR02000

DR03000

DR05000

DR10000

8.3

14.7

29.1

45.7

66.5

107

138

217

283

383

531

935

1347

2350

10.0

17.6

34.9

54.9

79.7

129

166

261

340

459

638

1122

1617

2821

11.6

20.5

40.7

64.0

93.0

150

194

304

397

536

744

1309

1886

3291

13.3

23.5

46.5

73.2

106

172

221

348

453

612

850

1496

2156

3761

15.0

26.4

52.3

82.3

120

193

249

391

510

689

956

1683

2425

4231

16.6

29.3

58.2

91.5

133

215

277

434

567

765

1063

1870

2695

4701

18.3

32.2

64.0

101

146

236

304

478

623

842

1169

2057

2964

5171

19.9

35.2

69.8

110

160

258

332

521

680

918

1275

2244

3234

5641

23.3

41.0

81.4

128

186

301

387

608

793

1071

1488

2618

3772

6581

26.6

46.9

93.0

146

213

344

443

695

907

1224

1700

2992

4311

7521

SC (Nm)�vh��pqz{（µ¶õ{）SC (Nm)�vh��pqz{（µ¶õ{）

7.0bar 8.0bar

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

SC00015

SC00030

SC00060

SC00100

SC00150

Sc00220

SC00015

SC00030

SC00060

SC00100

SC00150

Sc00220

ÔÁ fÂÔÁ fÂ

90 0° °90 0° °

µ¶õ{
z{

µ¶õ{
z{

4.9

5.8

6.8

7.8

8.8

9.7

10.7

11.7

3.4

4.1

4.7

5.4

6.1

6.8

7.4

8.1

13.1

12.1

11.2

10.2

9.2

8.2

23.7

22.6

21.5

20.4

19.3

18.2

17.1

20.8

19.1

17.4

15.8

14.1

12.4

10.7

25.6

24.5

23.3

22.2

21.1

20

18.9

22.1

20.4

18.7

17

15.3

13.6

11.9

27.4

26.3

25.2

24.1

22.9

21.8

23.3

21.6

19.9

18.2

16.5

14.8

32.1

31

29.9

28.8

27.7

27.5

25.8

24.1

22.4

20.7

36.9

35.8

34.7

33.5

31.6

29.9

28.2

26.6

8.5

10.2

11.8

13.5

15.2

16.9

18.6

20.3

5.5

6.7

7.8

8.9

10

11.1

12.2

13.3

18

15.8

11.7

8.3

23.8

21.6

19.4

17.6

14.1

10.6

29.6

27.4

25.2

23

23.4

19.9

16.4

13

35.4

33.2

31

28.8

26.6

29.2

25.7

22.3

18.8

15.3

41.2

39

36.8

34.6

32.4

30.2

35

31.5

28.1

24.6

21.1

17.7

50.7

48.4

46.2

44

41.8

39.6

37.4

43.2

39.7

36.2

32.8

29.3

25.8

22.4

54.3

52

49.8

47.6

45.4

43.2

45.5

42

38.6

35.1

31.7

28.2

63.7

61.5

59.2

57

54.8

53.7

50.2

46.7

43.3

39.8

73.1

70.9

68.7

66.4

61.8

58.4

54.9

51.4

17.3

20.8

24.2

27.7

31.1

34.6

38.1

41.5

11.1

13.3

15.5

17.7

19.9

22.1

24.3

26.5

27.4

23.7

16.8

11.1

36.5

32.8

29.2

26

20.2

14.4

45.7

42

38.3

34.6

35.1

29.3

23.6

17.8

73.1

69.4

65.7

62.1

58.4

54.7

51.1

62.6

56.8

51

45.2

39.5

33.7

27.9

78.6

74.9

71.2

67.5

63.9

60.2

56.5

65.9

60.1

54.4

48.6

42.8

37

31.3

84

80.4

76.7

73

69.3

65.7

69.3

63.5

57.7

52

46.2

40.4

98.6

95

91.3

87.6

84

81.8

76

70.2

64.5

58.7

113

110

106

102

94.3

88.5

82.8

77

28.9

34.7

40.4

46.2

52

57.8

63.5

69.3

18.3

22

25.7

29.4

33

36.7

40.4

44

41.1

36.1

27

19.1

54.4

49.3

44.3

40.3

32.4

24.5

67.7

62.6

57.6

52.5

53.6

45.7

37.8

29.9

81

75.9

70.8

65.8

60.7

66.8

58.9

51.1

43.2

35.3

94.2

89.2

84.1

79.1

74

68.9

80.1

72.2

64.3

56.5

48.6

40.7

108

103

97.4

92.3

87.3

82.2

77.2

93.4

85.5

77.6

69.7

61.9

54

46.1

116

111

106

101

95.5

90.5

85.4

98.8

90.9

83

75.1

67.3

59.4

51.5

124

119

114

109

104

98.7

104

96.3

88.4

80.5

72.7

64.8

146

140

135

130

125

123

115

107

99

92

167

162

157

152

142

134

126

118

39.4

47.3

55.2

63.1

71

78.8

86.7

94.6

25.3

30.4

35.4

40.5

45.5

50.6

55.6

60.7

65.6

78.7

91.8

105

118

131

144

157

41

49.3

57.5

65.7

74

82

90.3

98.5

63.3

58.1

41.8

28.7

87.8

79.6

71.3

63.3

50.1

37

109

101

92.8

84.6

84.7

71.6

58.5

45.4

131

123

114

106

97.9

106

93.1

80

66.9

53.8

152

144

136

128

119

111

128

115

101

88.3

75.2

62.1

174

165

157

149

141

133

124

149

136

123

110

96.7

83.6

70.5

187

179

171

162

154

146

138

158

144

131

118

105

92

78.8

200

192

184

176

167

159

166

153

140

127

113

100

235

227

219

210

202

196

183

170

156

143

270

261

253

245

226

212

199

186

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

11.6

10.9

10.2

9.5

8.9

8.2

10.1

9.1

8.1

7.2

6.2

5.2

13.2

12.5

11.9

11.2

10.5

9.8

9.2

11.7

10.8

9.8

8.8

7.8

6.9

5.9

14.2

13.5

12.8

12.2

11.5

10.8

10.1

12.4

11.5

10.5

9.5

8.5

7.6

6.6

l��Tz{l��Tz{

2.5bar 3.0bar 3.5bar 4.0bar 4.5bar 5.5bar5.0bar 6.0bar
��

�¬


��

�¬

µ¶

¦=

µ¶

¦=
ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

4.9

4.2

3.4

2.5

6.6

5.9

5.2

5.1

4.1

3.2

8.2

7.6

6.9

6.2

6.8

5.8

4.8

3.8

9.9

9.2

8.5

7.9

7.2

15.2

14.5

13.8

13.2

12.5

11.8

9.1

8

6.2

4.5

12

10.9

9.8

9.1

7.4

5.7

15

13.8

12.7

11.6

12

10.3

8.7

7

17.9

16.8

15.7

14.6

13.4

15

13.3

11.6

9.9

8.2

8.4

7.4

6.5

5.5

4.5

20.8

19.7

18.6

17.5

16.4

15.3

17.9

16.2

14.5

12.8

11.1

9.4

― ―05

DR/SC00015-05000

pqz{

DR/SC00015-05000

pqz{



Sc Nm�vh��pqz{（ ）Sc Nm�vh��pqz{（ ）

l��Tz{l��Tz{

µ¶

¦=

µ¶

¦=

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12

05

06

07

08

09

10

11

12


��

�¬


��

�¬

SC00300

SC00450

SC00600

SC00900

SC01200

SC02000

SC03000

SC05000

SC00300

SC00450

SC00600

SC00900

SC01200

SC02000

SC03000

SC05000

2.5bar

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

135

119

88.2

62.4

171

149

117

84

225

193

146

98.3

319

277

216

153

501

414

319

196

780

667

565

408

1333

1130

1017

750

85.9

75.4

55.9

39.4

3.0bar

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

178

162

146

132

106

80.1

228

206

183

174

141

108

301

270

238

222

175

127

425

383

340

323

260

197

688

601

514

506

383

259

1050

936

823

834

678

521

1803

1600

1396

1487

1220

954

114

103

92.6

84

67

50.6

3.5bar

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

222

205

189

173

175

149

124

97.7

285

262

240

217

231

197

164

131

378

346

315

283

299

251

204

157

532

489

447

404

429

366

303

240

875

788

701

614

693

570

446

323

1319

1206

1092

979

1104

947

791

634

2273

2070

1866

1663

1957

1690

1424

1157

141

131

120

110

111

95

78

62

4.0bar

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

265

249

232

216

200

219

193

167

141

115

341

319

296

274

252

287

254

221

188

154

454

423

391

359

328

375

328

280

233

186

638

595

553

510

468

535

472

409

346

283

1062

975

888

801

714

880

757

633

510

387

1589

1475

1362

1249

1135

1373

1217

1060

904

747

2743

2540

2337

2133

1930

2427

2161

1894

1627

1360

169

158

148

137

127

139

122

106

89.4

72.9

4.5bar

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

309

292

276

259

243

227

262

236

210

185

159

133

398

376

353

331

308

286

344

311

278

244

211

178

531

499

468

436

404

373

452

404

357

310

262

215

744

702

659

617

574

532

641

578

515

452

389

326

1249

1162

1075

988

901

815

1067

944

820

697

574

451

1858

1745

1631

1518

1405

1291

1643

1486

1330

1173

1017

860

3214

3010

2807

2603

2400

2196

2897

2631

2364

2097

1831

1564

197

186

176

165

155

144

167

150

134

117

101

84

5.0bar

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

352

336

319

303

286

270

254

305

280

254

228

202

177

151

455

432

410

387

365

343

320

401

367

334

301

268

235

201

607

576

544

512

481

449

418

528

481

433

386

339

291

244

850

808

765

723

680

638

595

748

685

622

559

496

433

370

1436

1349

1262

1175

1088

1002

915

1254

1131

1007

884

761

638

514

2128

2014

1901

1787

1674

1561

1447

1912

1756

1599

1443

1286

1130

973

3684

3480

3277

3073

2870

2666

2463

3367

3101

2834

2567

2301

2034

1767

224

214

203

193

182

172

161

194

178

161

145

128

112

95.3

5.5bar

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

379

363

346

330

313

297

280

323

297

272

246

220

194

168

489

466

444

422

399

377

354

424

391

358

324

291

258

225

652

621

589

557

526

494

463

557

510

463

415

368

320

273

914

872

829

787

744

702

659

791

728

665

602

539

476

413

1536

1449

1362

1275

1189

1102

1015

1318

1194

1071

948

825

701

578

2284

2170

2057

1943

1830

1717

1603

2025

1869

1712

1555

1399

1242

1086

3950

3747

3543

3340

3136

2933

2729

3571

3304

3037

2771

2504

2237

1971

241

231

221

210

200

189

179

205

189

173

156

140

123

107

6.0bar

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

406

390

373

357

340

324

341

315

289

263

238

212

523

501

478

456

433

411

448

414

381

348

315

281

697

665

634

602

571

539

586

539

492

444

397

350

978

935

893

850

808

766

834

771

708

645

582

519

1636

1549

1463

1376

1289

1202

1381

1258

1135

1012

888

765

2440

2326

2213

2100

1986

1873

2138

1981

1825

1668

1512

1355

4217

4013

3810

3607

3403

3200

3774

3508

3241

2974

2707

2441

259

248

238

227

217

206

217

200

184

167

151

134

7.0bar

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

477

460

444

427

411

402

376

350

324

299

614

592

569

547

524

528

494

461

428

395

818

787

755

724

692

692

645

597

550

503

1148

1105

1063

1020

978

984

921

858

795

732

1923

1837

1750

1663

1576

1632

1509

1386

1262

1139

2865

2752

2638

2525

2412

2520

2364

2207

2051

1894

4954

4750

4547

4343

4140

4448

4181

3914

3648

3381

304

293

283

272

262

256

239

223

206

190

8.0bar

ÔÁ fÂÔÁ fÂ

0 90° °0 90° °

547

531

514

498

463

437

411

386

705

683

660

638

608

575

541

508

940

908

877

845

798

750

703

656

1318

1275

1233

1191

1133

1070

1007

944

2211

2124

2037

1950

1883

1760

1636

1513

3291

3177

3064

2951

2903

2746

2590

2433

5690

5487

5283

5080

5121

4854

4588

4321

348

338

327

317

294

278

261

245

ÔÁ fÂÔÁ fÂ

90 0° °90 0° °

µ¶õ{
z{

µ¶õ{
z{

129

155

181

206

232

258

284

310

82.3

98.7

115

132

148

165

181

197

166

199

233

266

299

332

365

399

112

135

157

179

202

224

247

269

237

284

332

379

426

474

521

569

158

190

221

253

284

316

347

379

315

378

441

504

567

630

693

756

212

255

297

340

382

425

467

510

616

740

863

986

1109

1233

1356

1479

434

521

608

695

782

869

955

1042

783

939

1096

1252

1409

1565

1722

1878

567

680

794

907

1021

1134

1247

1361

1334

1600

1867

2134

2400

2667

2934

3200

1017

1221

1424

1628

1831

2035

2238

2442

82.5

98.9

115

132

148

165

181

198

52.5

62.9

73.4

83.9

94.4

105

115

126

l��Tz{�]AÄ�ÅþS_¦�，Vµ¶õ{z{0¦�ûµ¶¦=¯dÆ。

― ―06

DR/SC00015-05000

pqz{

DR/SC00015-05000

pqz{



K

L
M5 ×N

A

B
C

φD

M

4 4×

＂ ＂X

E

HG

F

DR/SC03000

DR/SC05000

E

4 4×

I
JHG

O

O1

45°

45°

P1 P

F

V

W

□
Q

＂ ＂X

DR/SC03000/05000

Y
Z

ISO228

�ïPQ NAMUR

�ïPQ ISO5211 / VDI/VDE3845

� ¬

ISOflange

A

B

C

D¨

E

F

G

H

I

Jmim

K

L

M

N

O1Ø

OØ

P1

P

Q□

V

W

Y

Z

ISOflange

A

B

C

D¨

E

F

G

H

I

Jmim

K

L

M

N

O1Ø

OØ

P1

P

Q□

V

W

Y

Z

00015

DR/SC

00015

DR/SC

00030

DR/SC

00030

DR/SC

00060

DR/SC

00060

DR/SC

00100

DR/SC

00100

DR/SC

00150

DR/SC

00150

DR/SC

00220

DR/SC

00220

DR/SC

00300

DR/SC

00300

DR/SC

00450

DR/SC

00450

DR/SC

00600

DR/SC

00600

DR/SC

00900

DR/SC

00900

DR/SC

01200

DR/SC

01200

DR/SC

02000

DR/SC

02000

DR/SC

03000

DR/SC

03000

DR/SC

05000

DR/SC

05000

DR/SC

F04

140.5

26.5

20

40

59

69

29

41.5

14.5

12

11

80

30

4

42

---

4-M5

---

11

24

32

M5x8

1/8＂

F05

158.5

30

20

40

72

85

36

47

14.5

16

11

80

30

8

50

---

4-M6

---

14

24

32

M5x8

1/8＂

F05-07

210.5

30.5

20

40

84.5

102

42.5

52

14.5

16

17

80

30

8

50

70

4-M6

4-M8

14

24

32

M5x8

1/8＂

F05-07

247.5

32.5

20

40

97.5

115

49.5

56.8

14.5

19

17

80

30

8

50

70

4-M6

4-M8

17

24

32

M5x8

1/8＂

F07-10

268.5

37.5

20

40

111

127

56

67

14.5

19

17

80

30

8

70

102

4-M8

4-M10

17

24

32

M5x8

1/4＂

F07-10

315

42.5

30

56

127

145

64

77

24.5

24

27

80

30

8

70

102

4-M8

4-M10

22

24

32

M5x8

1/4＂

F07-10

345

45

30

56

136

157

69.5

82

24.5

24

27

80

30

8

70

102

4-M8

4-M10

22

24

32

M5x8

1/4＂

F10-12

408.5

47.5

30

65

156.5

177

80

91.5

24.5

29

27

80

30

8

102

125

4-M10

4-M12

27

24

32

M5x8

1/4＂

F10-12

437.5

52

30

65

169

196

88

99

24.5

29

27

80

30

8

102

125

4-M10

4-M12

27

24

32

M5x8

1/4＂

F12

487

58.5

50

80

190.5

220.5

99

105

44.5

29

36

130

30

8

125

---

4-M12

---

27

24

32

M5x8

1/4＂

F14

543

62.5

50

80

213

245

110

112

44.5

38

36

130

30

8

140

---

4-M16

---

36

24

32

M5x8

1/4＂

F16

633

78.5

50

115

251

298.5

131

131

44.5

38

36

130

30

8

165

---

4-M20

---

36

40

45

M6x10

3/8＂

F16

728

165

50

115

298.5

330

163.5

166

44.5

48

36

130

30

8

165

---

4-M20

---

46

40

45

M6x10

1/2＂

F16

876

187

50

115

383

405

201

204.5

44.5

57

36

130

30

8

165

---

4-M20

---

55

40

45

M6x10

1/2＂

'(û�ï��（ ）mm'(û�ï��（ ）mm

1
5

2

254

4-M20

DR/SC05000�ï��

― ―07

LD：k�* 

ÇÞê

DR/SC00015-05000

'(��

DR/SC00015-05000

'(��



T

S

φR

U ( )��

� �

Rφ

S

T

U

DRφ

HT

Rφ

S

T

U

DRφ

HT

00015

DR/SC

00015

DR/SC

00030

DR/SC

00030

DR/SC

00060

DR/SC

00060

DR/SC

00100

DR/SC

00100

DR/SC

00150

DR/SC

00150

DR/SC

00220

DR/SC

00220

DR/SC

00300

DR/SC

00300

DR/SC

00450

DR/SC

00450

DR/SC

00600

DR/SC

00600

DR/SC

00900

DR/SC

00900

DR/SC

01200

DR/SC

01200

DR/SC

02000

DR/SC

02000

DR/SC

03000

DR/SC

03000

DR/SC

05000

DR/SC

05000

DR/SC

12.7

14.2

3

32

13

10

12.7

14.2

3

32

13

10

12.7

14.2

5

32

13

10

15.88

18.4

5

32

16.1

12

19.05

21.6

5

32

19.2

14

22.23

24.8

5

45

22.4

17

22.23

24.8

5

45

22.4

17

28.58

32.1

8

45

28.8

22

28.58

32.1

8

45

28.8

22

31.75

35.3

8

45

32

24

31.75

35.3

8

45

32

24

33.34

37.4

10

51

33.6

27

38.1

42.4

10

51

38.4

27

41.28

45.3

12

65

41.5

32

― ―08

���	
��（��）（ ）mm���	
��（��）（ ）mm

φ
D

R

U ( )��

HT

H：���� W：����

��� ���

�：�� !"��#$���%

&�'()*+,�-

0O-90O  0O-120O  0O-180O.�/0,�-1234567()*+89，!"�� ;<() 、 > ?@AB

CD�，1EFGH,�-IJ�K�&�'()。

67()*+89

DR/SC00015-05000

�����

&�'()*+,�-

DR/SC00015-05000

�����

&�'()*+,�-



― ―09

120 /180
O O

�������	
��
�（���）120 /180
O O

�������	
��
�（���）

DR00015-05000

120 /180
O O

��������

DR00015-05000

120 /180
O O

��������

K

L
M5 ×N

A

B
C

ΦD

M

4 4×

＂ ＂X

E

4 4×

I
JHG

O

O1

45°

45°

P1 P

F

V

W

□
Q

＂ ＂X

Y
Z

ISO228

���� NAMUR

���� ISO5211 / VDI/VDE3845

1、��������� !"#���。

2 140 /160、���%&������，( ��)。
O O

 !

ISOflange

A(120 )°

A(180 )°

B

C

DΦ

E

F

G

H

I

Jmim

K

L

M

N

O1φ

Oφ

P1

P

Q□

Rφ

S

T

U

V

W

Y

Z

ISOflange

A(120 )°

A(180 )°

B

C

DΦ

E

F

G

H

I

Jmim

K

L

M

N

O1φ

Oφ

P1

P

Q□

Rφ

S

T

U

V

W

Y

Z

00015

DR

00015

DR

00030

DR

00030

DR

00060

DR

00060

DR

00100

DR

00100

DR

00150

DR

00150

DR

00220

DR

00220

DR

00300

DR

00300

DR

00450

DR

00450

DR

00600

DR

00600

DR

00900

DR

00900

DR

01200

DR

01200

DR

02000

DR

02000

DR

03000

DR

03000

DR

05000

DR

05000

DR

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

F05

183

225

30

20

40

72

85

36

47

14.5

16

11

80

30

8

50

---

4-M6

---

14

24

32

M5x8

1/8＂

F05-07

243

305

30.5

20

40

84.5

102

42.5

52

14.5

16

17

80

30

8

50

70

4-M6

4-M8

14

24

32

M5x8

1/8＂

F07-10

309

385

37.5

20

40

111

127

56

67

14.5

19

17

80

30

8

70

102

4-M8

4-M10

17

24

32

M5x8

1/4＂

F07-10

397

498

45

30

56

136

157

69.5

82

24.5

24

27

80

30

8

70

102

4-M8

4-M10

22

24

32

M5x8

1/4＂

F10-12

504

630

52

30

65

169

196

88

99

24.5

29

27

80

30

8

102

125

4-M10

4-M12

27

24

32

M5x8

1/4＂

F14

622

775

62.5

50

80

213

245

110

112

44.5

38

36

130

30

8

140

---

4-M16

---

36

24

32

M5x8

1/4＂

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—

—



2 4D DC C

2 4D DC C

― ―10

������	


������	
��
�� � ，���0O-45O-90O 0O-90O-180O

“ ”����������������� ��!"#$%&'(2

)*+��,，

-./0123��456789:45*+��;<，= 、20O

30O  50O  75O  95O  120O  130O  150O  175O、 、 � 、 、 、 、 ?。

�ABCDE�F �� �，G�H �� �2 D 4 C

IJ， �KLMN��O�， �PQR� 2 D

��ST%&MN��U��VU,*+�

�。

WKXY

�� （*+��）1

�ABCDE�F �� �，G�H �� �2 C 4 D

IJ， �,MN��\]O�， �L^_�2 C

 ��ST%&U�，`MN��a0bc

de��。

�� （de��）2

�ABC�F �，G�H �IJ，MN��4 2

�*+f�O�bcdg��。

-hi jkl���mn，�o�0 -45 -90
O O O

opE（q�Ars），QRjkt`MN

��l�bdg��。

�� （dg��）3

������	
,uKvw��xypz{|&l}~�'��uK，�|&XY=�：

2 4D DC C

DR/SC������	


0 -45 -90 /0 -90 -180
O O O O O O

DR/SC������	


0 -45 -90 /0 -90 -180
O O O O O O



O

O1

45°

45°

P1 P

□
Q

V

W

＂ ＂X

Y
Z

ISO228

�/�� NAMUR

A

B

＂ ＂X

L

M

M5 ×N

C

ΦD

4 4×
E

J

F

HG

� �

DRSC00030

DRSC00060

DRSC00150

DRSC00300

DRSC00600

DRSC01200

DRSC00030

DRSC00060

DRSC00150

DRSC00300

DRSC00600

DRSC01200

A
B C ΦDΦD E F G H J L M N O1 O P1 P □Q□Q V W Y Z

30

30.5

37.5

45

52

62.5

20

20

20

30

30

50

40

40

40

56

65

80

72

84.5

111

136

169

213

85

102

127

157

196

245

36

42.5

56

69.5

88

110

47

52

67

82

99

112

16

16

19

24

29

38

80

80

80

80

80

130

30

30

30

30

30

30

8

8

8

8

8

8

50

50

70

70

102

140

—

70

102

102

125

—

4-M6

4-M6

4-M8

4-M8

4-M10

4-M16

—

4-M8

4-M10

4-M10

4-M12

—

14

14

17

22

27

36

24

24

24

24

24

24

32

32

32

32

32

32

M5 8×

M5 8×

M5 8×

M5 8×

M5 8×

M5 8×

1/8”

1/8”

1/4”

1/4”

1/4”

1/4”

2���/��

390

480

600

720

915

1155

Dr (Nm)��K1��J��Dr (Nm)��K1��J��

�	
�� 2.5bar 3.0bar 3.5bar 4.0bar 4.5bar 5.5bar5.0bar 6.0bar 7.0bar 8.0bar

DR00030

DR00060

DR00150

DR00300

DR00600

DR01200

DR00030

DR00060

DR00150

DR00300

DR00600

DR01200

14.7

29.1

66.5

138

283

531

17.6

34.9

79.7

166

340

638

20.5

40.7

93.0

194

397

744

23.5

46.5

106

221

453

850

26.4

52.3

120

249

510

956

29.3

58.2

133

277

567

1063

32.2

64.0

146

304

623

1169

35.2

69.8

160

332

680

1275

41.0

81.4

186

387

793

1488

46.9

93.0

213

443

907

1700

0 -45 -90
O O O

0 -90 -180
O O O

440

570

710

910

1130

1400

― ―11

DR/SC������	


0 -45 -90 /0 -90 -180
O O O O O O

DR/SC������	


0 -45 -90 /0 -90 -180
O O O O O O



41.1

36.1

27

19.1

54.4

49.3

44.3

40.3

32.4

24.5

67.7

62.6

57.6

52.5

53.6

45.7

37.8

29.9

81

75.9

70.8

65.8

60.7

66.8

58.9

51.1

43.2

35.3

94.2

89.2

84.1

79.1

74

68.9

80.1

72.2

64.3

56.5

48.6

40.7

108

103

97.4

92.3

87.3

82.2

77.2

93.4

85.5

77.6

69.7

61.9

54

46.1

116

111

106

101

95.5

90.5

85.4

98.8

90.9

83

75.1

67.3

59.4

51.5

124

119

114

109

104

98.7

104

96.3

88.4

80.5

72.7

64.8

146

140

135

130

125

123

115

107

99

92

167

162

157

152

142

134

126

118

39.4

47.3

55.2

63.1

71

78.8

86.7

94.6

25.3

30.4

35.4

40.5

45.5

50.6

55.6

60.7

e� ��

0 90° °0 90° °

e� ��

0 90° °0 90° °

e� ��

0 90° °0 90° °

47.1

44.8

42.6

40.4

38.2

36

33.8

40.8

37.3

33.9

30.4

27

23.5

20

SC ��K1��J��（jk��）(Nm)0 -45 -90
O O O

SC ��K1��J��（jk��）(Nm)0 -45 -90
O O O

7.0bar 8.0bar

e� ��

90 0° °90 0° °

jk��
��

jk��
��

23.7

22.6

21.5

20.4

19.3

18.2

17.1

20.8

19.1

17.4

15.8

14.1

12.4

10.7

25.6

24.5

23.3

22.2

21.1

20

18.9

22.1

20.4

18.7

17

15.3

13.6

11.9

27.4

26.3

25.2

24.1

22.9

21.8

23.3

21.6

19.9

18.2

16.5

14.8

32.1

31

29.9

28.8

27.7

27.5

25.8

24.1

22.4

20.7

36.9

35.8

34.7

33.5

31.6

29.9

28.2

26.6

8.5

10.2

11.8

13.5

15.2

16.9

18.6

20.3

5.5

6.7

7.8

8.9

10

11.1

12.2

13.3

18

15.8

11.7

8.3

23.8

21.6

19.4

17.6

14.1

10.6

29.6

27.4

25.2

23

23.4

19.9

16.4

13

35.4

33.2

31

28.8

26.6

29.2

25.7

22.3

18.8

15.3

41.2

39

36.8

34.6

32.4

30.2

35

31.5

28.1

24.6

21.1

17.7

50.7

48.4

46.2

44

41.8

39.6

37.4

43.2

39.7

36.2

32.8

29.3

25.8

22.4

54.3

52

49.8

47.6

45.4

43.2

45.5

42

38.6

35.1

31.7

28.2

63.7

61.5

59.2

57

54.8

53.7

50.2

46.7

43.3

39.8

73.1

70.9

68.7

66.4

61.8

58.4

54.9

51.4

17.3

20.8

24.2

27.7

31.1

34.6

38.1

41.5

11.1

13.3

15.5

17.7

19.9

22.1

24.3

26.5

e� ��

0 90° °0 90° °

e� ��

0 90° °0 90° °

e� ��

0 90° °0 90° °

e� ��

0 90° °0 90° °

e� ��

0 90° °0 90° °

e� ��

0 90° °0 90° °

G�BC��

2.5bar 3.0bar 3.5bar 4.0bar 4.5bar 5.5bar5.0bar 6.0bar�	


��

�	


��

jk

��

jk

��
e� ��

0 90° °0 90° °

12

10.9

9.8

9.1

7.4

5.7

15

13.8

12.7

11.6

12

10.3

8.7

7

17.9

16.8

15.7

14.6

13.4

15

13.3

11.6

9.9

8.2

20.8

19.7

18.6

17.5

16.4

15.3

17.9

16.2

14.5

12.8

11.1

9.4

SC 0O-45O-90O�K1

������	


SC 0O-45O-90O�K1

������	


171

149

117

84

228

206

183

174

141

108

285

262

240

217

231

197

164

131

341

319

296

274

252

287

254

221

188

154

398

376

353

331

308

286

344

311

278

244

211

178

455

432

410

387

365

343

320

401

367

334

301

268

235

201

489

466

444

422

399

377

354

424

391

358

324

291

258

225

523

501

478

456

433

411

448

414

381

348

315

281

614

592

569

547

524

528

494

461

428

395

705

683

660

638

608

575

541

508

166

199

233

266

299

332

365

399

112

135

157

179

202

224

247

269

319

277

216

153

425

383

340

323

260

197

532

489

447

404

429

366

303

240

638

595

553

510

468

535

472

409

346

283

744

702

659

617

574

532

641

578

515

452

389

326

850

808

765

723

680

638

595

748

685

622

559

496

433

370

914

872

829

787

744

702

659

791

728

665

602

539

476

413

978

935

893

850

808

766

834

771

708

645

582

519

1148

1105

1063

1020

978

984

921

858

795

732

1318

1275

1233

1191

1133

1070

1007

944

315

378

441

504

567

630

693

756

212

255

297

340

382

425

467

510

85.9

75.4

55.9

39.4

114

103

92.6

84

67

50.6

141

131

120

110

111

95

78

62

169

158

148

137

127

139

122

106

89.4

72.9

197

186

176

165

155

144

167

150

134

117

101

84

224

214

203

193

182

172

161

194

178

161

145

128

112

95.3

241

231

221

210

200

189

179

205

189

173

156

140

123

107

259

248

238

227

217

206

217

200

184

167

151

134

304

293

283

272

262

256

239

223

206

190

348

338

327

317

294

278

261

245

82.5

98.9

115

132

148

165

181

198

52.5

62.9

73.4

83.9

94.4

105

115

126

G�BC���¤¥¦N§LS¨�©，�jk����,�©�jk��ª«¬。

― ―12

9.1

8

6.2

4.5



― ―13

180O�������	（��
�）180O�������	（��
�）

"2" "4"

"2" "4"

"2" "4"

180O��
�����	����������，���

0O-90O-180O���
 �!�，�"#�$%&（'(

)）*+,��-�. �/。90O

�12�/ 314�/ 56789�:;<5=>180 0
O O

?@± 。4
O

A�$%&B�C DE�F�GHI�J(2)

*，K�GHLMN�F��8NO�，P

K��Q���%R，���JQS�+,

�C TU，V*K�GHWXVYZ�[(4)

U\ W] ^*_8N`abc 。( ) 180O

d�ef
B90 -180

O O

A�$%&B�C DE�F���J*，(4)

K�GHN�FI�8NO�，PK��Q

���%R，I��JQS�+,�C T(2)

U，V*K�GHWXVYZ�[U\ W(

] g*_8N`abc 。) 0O

B90 -0
O O

A�/� ：��C "#S�%&'i180O (2)

jkli*，��m&PKGHN�FI�

8NO�，nog*_8N`a. �/。90O

B"#�$%&Q!�

A�/� ：��C "#S�%&'ij0O (4)

kli*，��nom&PKGHN�F�

�8NO�，no^*_8N`a. �90O

/。

SC

0 -90 -180
O O O

�������	

SC

0 -90 -180
O O O

�������	



― ―14

0 -90 -180
O O O

�������	Q!�pqr

sijktu-vwxyz{!�。

<5K�|}|�~+ijktu'r}~

��+ijktu。

tuef

� �

SC00150

SC00300

SC00600

SC01200

SC00150

SC00300

SC00600

SC01200

A B C D E F G H J L M N O1 O P1 P □Q□Q V W Y Z

37.5

45

52

62.5

20

30

30

50

40

56

65

80

111

136

169

213

127

157

196

245

56

69.5

88

110

67

82

99

112

19

24

29

38

80

80

80

130

30

30

30

30

8

8

8

8

70

70

102

140

102

102

125

—

4-M8

4-M8

4-M10

4-M16

4-M10

4-M10

4-M12

—

17

22

27

36

24

24

24

24

32

32

32

32

M5 8×

M5 8×

M5 8×

M5 8×

1/4”

1/4”

1/4”

1/4”

630

812

1007

1242

E

O

O1

45°

45°

P1 P

□
Q

V

W

＂ ＂X

Y
Z

ISO228

��67 NAMUR

A

B

＂ ＂X

C

ΦD

4 4×

J

F

L

M

M5 ×N

HG

:������

[U��

7.0bar 8.0bar

��
�
��

��
�
��

S�%&��

2.5bar 3.0bar 3.5bar 4.0bar 4.5bar 5.5bar5.0bar 6.0bar
��	

��

��	

��

��

��

��

�� 0°
90 and°

180°

0°
90 and°

180°

SC00150

SC00300

SC00600

SC01200

SC00150

SC00300

SC00600

SC01200

2 4

0°
90 and°

180°

0°
90 and°

180°

0°
90 and°

180°

0°
90 and°

180°

0°
90 and°

180°

0°
90 and°

180°

0°
90 and°

180°

0°
90 and°

180°

0°
90 and°

180°

0°
90 and°

180°

0°
90 and°

180°

0°
90 and°

180°

0°
90 and°

180°

0°
90 and°

180°

0°
90 and°

180°

0°
90 and°

180°

0°
90 and°

180°

0°
90 and°

180°

0°
and      90°
180°

0°
and      90°
180°

SC

0 -90 -180
O O O

�������	

SC

0 -90 -180
O O O

�������	



���� 、VID/VIE3845 NAMUR

��	
��
����VID/VIE3845

��	
��

����
����

�������� 	
��
��� ����

����VID/VIE3845
��	�����

�������

― ―15

�������



― ―16

����

����

����

���	
��
��，����

������������ !"#$

%"。��'()*+，,'-./0

12�3456789:;����<

=>?@ABC。
��5126789���DE：

G�、2�、��/JK�/KL�，MN

�、OP�、QR�，ST�U�#�

�VW�XYZ[\，]Y����，

^Y����，�_`�，ab�，c

_�d。��efg56789hi@

ABC。j：klmnopqr$�、

st�uvw�、xyTRTmn|��

d。}~�����6g�����

]、��、��、��、��、%�、

����、������d��。
“U675��”	������

��,。���>?、:;���、�

� ¡���，¢£5¤�¥¦�§

¨。



― ―17

���	


Design

Materials Processing

ProductsAssembling

Workshop



���

�������	、��
��	、�����、�����、
����������

 !"#$%&'()*+,，./0(12�	3456$、5789:�;<=>、;<

?@。

BCDEFGHIJ��!KLM

ADD 15：RSTUVWXYZW[\] ^（`abc]）

： -Tel 0577 86934111

Fax 0577 86934333： -

E-Mail: SD@HES.tm

http://www.HES.tm




